General Linear Graphs
1.  The cooking instructions for pork tell the cook to roast it for 40 minutes plus 20 minutes per pound. Work out the cooking times for  joints of pork which weigh 2 pounds, 3 pounds, 4 pounds.

· Plot a graph showing these results. Put the weight along the x-axis using the scale of each 2cm block to represent one pound and put the time in minutes up the y-axis using a scale of each 2cm block  to represent 100 minutes.

2.  An electricity company offers its customers two ways to pay for the power they use:


Method A:
£20 per quarter plus 5p per unit.


Method B:
£5 per quarter plus 8p per unit.

Complete the table for the cost of electricity



Units used

100
400
800
1200
1500


Cost in £’s


      A


25

60




      B


13
37

· Plot these values on a graph, use a different colour for the two different methods.

· If you use 200 units would it be better to pay by Method A or by Method B ?

· When is it cheaper  to pay by Method A rather than Method B ?

3.   Complete the table for the function  y = 3x + 1




x

0
1
2
3



3x




9



y




10

· Plot the  graph  of the function  y = 3x + 1

4a)
Kendal Motors  hire out vans at a basic charge of £35 plus a charge of 20p  per mile travelled. If  x is the  number of miles travelled and C is the total  cost  in pounds, copy and complete the table of values.


X
0
50
100
150
200
250
300


C
35


65


95

4b)
Draw a graph to show this information using a scale of 2cm for 50 miles on the x-axis and 1cm for £10 on the y-axis.

c) Use the graph to find the number of miles travelled when the cost was £71.

d) What is the formula connecting C and x?   (What is the rule?)

5.

a) Television repair charges depend on the length of time taken for the repair plus a standing charge of £10.  If x is the time taken for the repair in minutes and C is the total charge in £’s, copy and complete the table.


X
0
10
20
30
40
50
60
70
80
90


C
10

20



40

b) Draw a graph to show this information.

c) Write down the equation of the line.

d) Mr Swann hopes the repair to his television will cost no more than £84. What is the maximum time that could be spent on the repair?


